0H Y MRF FEAUN (9] 25743F)

~o o 154 9 (E4) SLE(HE) 154 9 (5H) LS (FAH)
=4 S =4 S = sz =4 s

A 1,103,113 217,753 -9.5 1.7 10,670,163 1,971,661 | -10.3| -3.4

1 |HEY 184,351 23,438] -2.4 2.4 1,963,717 226,854 -1.9 0.9
2 |&= 162,165 24.165] -12.0| -5.4 1,610,063 220,998 | -13.9| -12.3
3 |ol= 114,217 23,774] -2.8 10.5 1,043,027 211,125 -1.2 9.1
4 |2z Alof 89,218 12,290 -10.1 -8.4 858,189 110,685 | -13.0| -10.4
5 [¢& 60,356 9,107] -14.5 2.4 563,595 76,901 | -156| -5.2
6 |[E3 47,066 5,959] -10.2 7.3 407,547 44279 | -10.0| -9.0
7 |otEHolo|z2|E dgt 32,852 5,006 -5.9 3.5 335,223 48,678 -3.3| -5.4
8 |Zel[H 28,653 6,201 9.4 222 221,694 45,885 | -10.3| -3.4
9 [H7] 21,850 5,360] -3.4 5.4 199,310 49,718 | -11.9| -4.3
10 |=5¢ 18,852 6,552 6.1 28.0 168,476 55,407 | -19.1 -6.1
11 |ZEClo} 17,724 4,796] -6.5| -6.5 191,014 50,206 -1.6| -11.4
12 |oHgt 13,675 2,740 -23.9| 12.8 110,469 21,636 -9.5 1.4
13 |olErz|o} 13,551 4,014 =155 11.0 140,002 41,669 | -17.6 0.3
14 (= 13,511 4,876 -13.6 | 11.7 121,016 35,800 | -17.2| -11.5
15 |22t A 13,426 2,348 —22.7| -16.5 145,011 27,489 -3.3 8.1
16 |Ei= 13,076 3,054 -17.5| -12.9 135,922 31,951 | -10.7 2.0
17 [l =(elc|o}) 11,898 5,561] -3.3 3.8 109,518 47,026 -0.5 1.9
18 (=& 11,423 2,009 -25.9| 14.6 114,473 19,519 | —24.6 4.6
19 |HA[= 10,510 2,371] -13.7 8.2 105,492 22,990 -0.8| 14.0
20 |ZtE| 2} 10,015 1,531] 36.6| 62.7 76,067 10,866 7.2 3.4
21 |Ab$LClol2ts|o} 9,942 1,695 -21.3| -13.4 138,189 19,745 | -28.1 | -21.3
22 |A2|Z7} 9,928 1,176] 10.3 6.5 64,827 8,265 0.6 3.8
23 |2 Alot 9,532 2,958] -38.1| -25.5 89,340 25,997 | -39.1 | -19.9
24 |7H et 9,402 1,585 7.4 10.5 76,520 13,858 2.7 0.0
25 |Zao[Alof 9,037 4,367] -19.1| —-19.2 85,835 40,272 | -11.7| -7.4




9O = d7F TAA (& 2571=)

e o 15 9 ) =hel) 154 9" (5FH) sas(=A)
T T o = EL; =9 == o | z=

¥ 1,549,775 155,960 -2.9 10,606,667 1,279,635 -1.7 2.4
1 |&5= 662,396 81,550 -1.2 4,728,264 645,592 -2.6 2.9
2 |HEY 392,151 25,290 4.8 2,007,249 180,928 1.6 7.9
3 [el=Alof 81,110 10,346 -1.4 556,400 86,829 -1.0 5.5
4 |o|&t2|ot 59,001 730 -3.8 476,395 6,173 -0.4 8.3
5 |o|Qfao} 57,503 2,345 -10.6 288,083 11,389 | -12.2| -5.0
6 (¢ 29,872 4,220 -15.4 289,724 50,131 -9.1 2.9
7 |o|= 29,491 3,204 -0.9 253,802 25,118 -7.0| -10.6
8 |el=(elC|ot) 27,633 7,436 -5.4 300,986 77,794 11.4| 16.9
e ER 26,474 1,488 56.7 177,403 12,516 15.8| 14.3
10 (=& 21,033 488 344.2 179,645 1,974 6.7 | 95.7
NEE 17,299 3,624 -21.4 165,463 37,371 | —-12.8| —-11.4
12 (22|H 13,973 760 -2.4 88,793 5,526 19.3 6.9
13 |ZEClo} 13,830 683 31.0 105,864 4,103 25.8| 22.6
14 |opz| AE 12,704 3,188 21.4 101,176 25,548 0.3 5.4
15 |[=¢ 9,203 441 -20.0 63,282 4,734 -4.7| -0.5
16 |22 o|A|of 9,121 3,890 -29.4 93,171 40,633 | —26.7 | —24.3
17 (9= 8,974 228 -63.4 48,325 2,367 22| -16.1
18 [CHEH 8,286 1,818 -13.4 88,055 18,520 -7.6| -11.3
19 [E{7] 8,149 396 36.2 65,741 2,885 9.9| 76.6
20 |§0ot o} 6,922 52 -28.9 43,123 303 03| -2.2
21 |amH el 4,832 82 -12.5 46,931 933 1.0 7.9
22 |A2|E7} 4,542 398 —24.2 39,325 3,773 5.8 1.0
23 |Zz2EZ 4,404 79 -9.7 37,211 653 10.6| 19.8
24 |&otel 3,086 118 171.9 10,291 211 5.8| 38.8
25 |2AEz|of 2,722 960 -41.5 41,537 14,872 -3.7 6.4




